TEES 1) E 8
%fﬁ 2| 45cE80E REEME
BT EJT EM HR
& AT
HETEHE BR &
MEES 3z
SE )
= =< =
B K I;R

Me ﬁ [V

S=1:250

EIHZER L=5.0m
IUhY-+7" 0yHFET SL=5. 14m
A=22. Om2
NOWET N=28FF
h-F b-MEE - BRE  L=3.0m
MIT (WEEXDSFE )Aﬂ&oq{

Tht

T

TR

|
A
|
!
X
\

|
|

1

|

|

|
Cl
i

2
A\

1:250
2.90.9 1 2 3 456 7 8
(]‘WHHEH“H‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘\W
AEWTE X
5=1:50
5100 |
N 90 o

H=4600

s
-
\ -

~ - ) Mt O Va
S o / Gr-C2-3E
S
/ % Iv9Y-17" nyh%E
( 150kg/{& LAF

ARAIV4Y-b
7 @18-8-40 W/C<60%

S
s s
ey

x) EaA1v)Y-+

B AR
300mm

B @18-8-40 W/C=60%

ZABR
75 BERA (EXARZ40mm)

5, BB+

FIHIEE L=
WHY-+7"0yhEE A=
NOIET N=
REAIFFEMT L=
15. 000
_ J/J’J'J-I~7° nyhia
10. 000
5.000 %EI
WETOSET A=18.0m3
1:200 |
DL=0. 000
E '\(SQ
//%. ‘l
E || @ /
+H
i
H
5 } I L
i 5 S B
1114 [oe] —_ N
= 8 8 o
_|_
o ‘ } } } }
& 5 5 S R <
Lo [oe] ~— N Lo
# o 8 @ o e
B S S S S S
Lol o o o o o
= s o - s S
a
3 S S S8 8 S
o o o o o
ey 5 o & o o
i
ais =) ) ) =
m Rl S s g 2 s
A
=4




T 4 FE ERKEEATE
TEES| FDHE =
B8R o | anmes RBEME
A
e T T BM HHN
& A

W E R 1:100
REES 3R®2

E NI T
= =

He T

T

4600
V13.106
WHEE | 1 | 1.7 . m%
HAIEH | C2 | 6.9 NS i o
BRELD | B1 | 0.4 &
2 Sml%{%.t ok | B2 | — //
2. Sm%%: B3 0.6 o /
BE%t | B4 | 0.3 3 /
HBRL RA 1.2 =< /
Bixmit k|l BL —
o
S
™
4600
WHERIE | C1 | 1.8 V12.861
BRI C2 | 5.3
BEEED | g1 | g
BRIL ) — i
2. 5mi k4. omkss | B2
FhZs | B3| 06
BEELT B4 0.4 o
BRL RA 1.3 8
FtiEmit | BL — <
(a»)
Lo
[ap)
o

4200

5=1:100

HEHRERIE | C1 | 1.7
MRSl | C2 | 9.0
BRELD [ 1 | 0.4
BRI s B2 | —
BREL B3 | 0.6
BEmt | B4 | 0.3
BREL | RA | 1.2
mtEEaLE BL | —

4600

NO. b+5
I
Nﬁ O
NO. 5
4600
Vv13.2]0
Qe
& i}

300




S 4 FE BBRKEEATISE *%i% 3
IFES | T (H)E =
T o nm o
T B | ASURN0S RMBENR
B I gm m® R
5] AT
HEE HR %
HEES BT
CTT ~ :
=] K S S=1:50 S=1:50
3075
3075
o 5000 o
zo ZO O Lo
30Q 4400 300 2 2
‘ EiEaLsy—k ‘ T — ——
I | |
B H 4t
NOLESHT £=10mm
| H #i44 i
=10 J
L I 8 /'0 Q uo)
S5 | o £ s ~ =
ST
Nl
T &
/// - 7//" "/.—/—7
s - =
“8r— |
HEEEaLHY— b -
£ttt = (3.075m+0.50m) =2x5. 15mx2&Fh
BARE (BAHEI0m)
=18. 41m2
' O I T
$=1:50 ERETHEERX Xim L E X
S=1:30 S=1:30
1160 790
300 ‘ ‘
(\/
I Q
/™~ - ~0 ST
o
/ LD /j;/ avyl)—+F
i i ST LA @ 18-8-40
B arvy')—+
L @ 18-8-40
e EiEM
S ¥ ot 100 550 10
s € & g 3 BT 10mt- Y
— = / —
o i // = EET 10mXf=Y avg)-p V= (0.79+0.84) x1/2x0.1x10.0 =0.82=0. 8m3
i
- avh)-p V= ( (0.10+0.55) x1/2x0.25+0.55%0.10) x10.0=1.36=1.4m3 EiALY oA A= (0.10+0.112) x10.0=2.12=2. 1m2
/
/ AL oA A= (0.35+0.10) x10.0=4.50m2=4. bm2 Bih#ét A= (0.79+0.84) x1/2x0.1=0.082=0.08m2
EEERAV=0.75x0.20x10.0=1.50=1. 5m3
( 0 A=0.75%10. 0=7. 50m2=7. bm2
1160 B#har A= (0.10+0.55) x1/2x0.25+0.55x%x0.10=0. 136m2=0. 14m2

MOLET 1ERERY
)=+ 1.16x5.15x0.3=1. 79m3=1. 8m3
B 1.16x5.15x2+5. 758 x 0. 3=13. 68m2 =13. Tm2



